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1.1   

 

Wertetabelle zu f: 

x       0         5         10          15          20            25            30         
y    0,13      1,26    12,7        128     1290,16   13003,99   131072         

 
 

 
 
1.2 

 

raußen = 8,6 cm/2 = 4,3 cm 
 

rinnen = 3 cm/2 = 1,5 cm 
 

ADiskette = 2 * π * (raußen² - rinnen²) 

 
ADiskette = 2 * π * (4,3² cm² - 1,5² cm²) = 101,99 cm² 

 
                1 440 kB                   kB 

yDiskette = -------------- = 14,12 ------ 
               101,99 cm²               cm² 

 



14,12 = 0,125 * 2
x

1,5 | :0,125 

 

112,96 = 2
x

1,5 |lg 

 

lg 112,96 = lg * 2
x

1,5 

 

                   x   
lg 112,96 = ---- * lg 2 | *1,5 

                  1,5   
 

1,5 * lg 112,96 = x * lg 2 | :lg 2 
 

        1,5 * lg 112,96    
x = -------------------- = 10,23 --> Er hat das Jahr 1980 vorausgesagt. 

                lg 2  
 

1.3 

 

Abgelesen: im Jahr 1995. 

 
Berechnet: 

 

20 000 = 0,125 * 2
x

1,5 |:0,125 

 

160 000 = 2
x

1,5 |lg 

 

lg 160 000 = lg * 2
x

1,5 

 

                     x   
lg 160 000 = ---- * lg 2 | *1,5 

                    1,5   
 

1,5 * lg 160 000 = x * lg 2 | :lg 2 
 

        1,5 * lg 160 000    

x = --------------------- = 25,9 Jahre --> 1970 + 25,9 = 1995.9   
                 lg 2  

 
--> im Jahr 1995                       

 
1.4 

 

6,7 = 2
x

1,5 |lg 

 

lg 6,7 = lg 2
x

1,5 



              x    
lg 6,7 = ---- * lg 2 | *1,5 

             1,5   

 
1,5 * lg 6,7 0 x * lg 2 | :lg 2 

 
       1,5 * lg 6,7   

x = -------------- = 4,1 Jahre  

            lg 2     

 
1.5 

 
x = 1999 - 1970 = 29 Jahre 

 

y = 0,125 * 2
29

1,5  = 82 570 kB/cm² 

 
                1 000 000 kB/cm²    

Faktor = ---------------------- = 12,1 

                   82 570 kB/cm²     
                      


